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Practice

MATH 6MATH 6

4. Find the absolute value of each number.

450  |—22| |0| −108

15  −15  |—3| 18    

5.	 Find	the	change	from	the	first	temperature	to	the	second.	Write	
the change as an integer.

5 °F to 15 °F ______ –50 °F to –25 °F ______

0 °F to –15 °F ______ –10 °F to –35 °F ______

25 °F to 15 °F ______ –5 °F to 15 °F ______

6.	 Compare	the	following	using	<,	>,	or	=.	
 0 5   −  7 2    −4 4     

  
− −15 23  

 
32 30   −

 

 

7.	 Cross	off	the	incorrect	absolute	values.

� �15 15  � � �15 15

|—5|=—5 |—5|=5

15 15� �  15 15=

|5|=5 |5|=—5

5 7  

1.	 If	the	number	is	an	integer,	write	“yes”	on	the	line.	If	not,	write	
“no.”

 7 ______ – 40 ______ 0 ______ 4
5  ______

 5.1 ______ 1
3  ______ –21 ______ – 8.4 ______

2.	 Write	each	of	the	expressions	as	an	integer.	Some	examples	are	
given.

a	loss	of	$2,000	 _______	 500	ft	below	sea	level	 _______

a	drop	of	15	°F	 _______	 a	debt	of	$10	 _______

a	price	increase	of	$60	 _______	 a	deposit	of	$50	 _______

125	ft	above	sea	level	 _______	 a	withdrawal	of	$50	 _______

30	degrees	below	zero	 _______	 a	gain	of	$45	 _______

3.	 Find	the	opposite	of	each	number.	Use	the	number	line	for	help	if	
necessary.

Number Opposite Number Opposite

4 12

7 –12

–2 –5

–1 8

0 3

-15 -10 -5 0 5 10 15

–2,000

60

–50
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MATH 6MATH 6

Video Lesson

Mental Math Checkup

Scan the QR code or watch the video lesson on 
goodandbeautiful.com/Math6. This section is completed 
during the video.

1
LessonLesson

OPPOSITES AND
ABSOLUTE VALUE

Warm–Up

Using a scale that counts by one, label the missing numbers 
on each of the number lines.

0

0

0

1. Count by 100 from 0 to 1,000.

2. Add 1,000 to each number.

239,719  76,736  3,791 

3. What is the third month of the year? 

14 14   −

The warm-up is discussed in the video.  
This section can be completed either before or during the video.

Write the answers in the spaces provided. This section is completed independently.

 Watch the video lesson and/or read the mini lesson.

0

0

0
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3

5

240,719 77,736 4,791

March

=

–12 = 12 0 = 0

35 = 35  = 

–100 = 100 –8.2 = 8.2

3

5

1  2  3  4  5  6  7  8  9  10

–5 –4 –3 –2 –1     1  2  3  4  5

–10 –9  –8  –7  –6  –5  –4  –3  –2  –1
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MATH 6MATH 6

 Watch the video lesson and/or read the mini lesson.

Video Lesson

Mental Math Checkup

Warm–Up

1. Count by 50 from 0 to 500.

2. Add 10,000 to each number.

726,101   27,193,716   827,719 

3. How many quarters are in $2.00? 

Write each expression as a number in standard form.

 42 25 33

   

Write each expression using exponents.

 7 × 7 × 7 × 7 10 × 10

  

The warm-up is discussed in the video.  
This section can be completed either before or during the video.

60

_______________

Scan the QR code or watch the video lesson on 
goodandbeautiful.com/Math6. This section is 
completed during the video.

Write the answers in the spaces provided. This section is completed independently.

PRIME FACTORIZATION

2
LessonLesson

© Jenny Phillips
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736,101 27,203,716 837,719

8

16 32 27

74 102

Factor trees may vary.

22 × 3 × 5

Review

Practice

MATH 6MATH 6

1. Circle the even numbers and cross out the odd numbers. 

589,137  1,792,870 84,781,791 901,728,176

2. Compare each pair of numbers using <, >, or =.

6 371 278 6 372 278, , , ,  
5 810 5 81. .  
431 081 431 801, ,  

3. Complete each problem.

654 ÷ 3 = ______________ 382,718 + 12,795 = ______________

5,361 × 12 = ____________ 265,710 – 12,795 = ______________

4.	 List	the	next	five	multiples	of	each	number.	
20, ____, ____, ____, ____, ____

50, ____, ____, ____, ____, ____

12, ____, ____, ____, ____, ____

5. List the factors of each number.

25: ____, ____, ____ 

32: ____, ____, ____, ____, ____, ____

100: ____, ____, ____, ____, ____, ____, ____, ____, ____

8. Circle the greater value in each row.
a. the opposite of 3 |2|
b. −25  the opposite of –24

c. −14  –14

d. the opposite of 4 the opposite of –4

e.  |10|    ten less than zero

f. the opposite of 8  –9

9. Circle the correct word in italics to make a true statement. 

The absolute value of a positive number is a  positive / negative  number.

The absolute value of a negative number is a  positive / negative  number.

The opposite of a positive number is a  positive / negative  number.

The opposite of a negative number is a  positive / negative number.

10.	Complete	the	chart	below.	The	first	row	is	given	as	an	example.
Number Opposite Absolute Value

−
5
8

5
8

5
8

3.4

–27.482

−
1
5

3
10

–50.5
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–3.4

27.482

3.4

27.482

50.5 50.5

<

=

<

218
64,332

395,513
252,915

40 60 80 100 120

100 150 200 250 300

24 36 48 60 72

1 5 25

1 2 4 8 16 32

1 2 4 5 10 20 25 50 100

1
5

− 3
10

3
10

1
5
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MATH 6MATH 6

Practice Continued

5. Using the prime factorization given below, write each number in standard form.

25 × 3 = _____ 32 × 5 × 7 = _____ 23 × 11 = _____ 7 × 132 = _____ 22 × 52 × 17 = _____ 2 × 3 × 5 × 72 = _____

4. Create a factor tree for each number. Then write the prime factorization of each number, using exponents when a factor repeats.

  56 75 48 

  110 150 

© Jenny Phillips
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Factor trees 
will vary.

3 × 5223 × 7 24 × 3

2 × 5 × 11 2 × 3 × 52

96 315 88 1,183 1,700 1,470

MATH 6MATH 6

Mini Lesson

A prime number is a whole number that has exactly two factors: the 
number itself and the number 1. Examples: 5, 13, 67 

A composite number is a whole number that has more than two 
factors. Examples: 6, 27, 81 

A factor pair is two factors of a number whose product is the given 
number; numbers in a factor pair are referred to as factors of the 
given number. Example: A factor pair of 46 is 2 and 23.

Prime factorization is a number written as the product of its prime 
factors. For example, the prime factorization of 60 can be written as  
2 × 2 × 3 × 5 or 22 × 3 × 5.

A factor tree is a diagram used to identify the prime factors of a 
composite number.

Example: Use a factor tree to find the prime factors of 450.

Start by writing the number you are factoring at the top. 

Then use lines to separate the number into a factor pair. 

Hint: If you don’t see any obvious factors, you 
can begin with small numbers and use the 
divisibility rules to find a factor. Do not use 1 as 
a factor because 1 is not a prime number.

Circle factors that are prime numbers. 

Separate each composite number into a factor pair 
until every factor is a prime number.

Write the prime factors (the circled numbers) as 
a multiplication problem in order from least to 
greatest, using exponents when a factor repeats.

To check your work, multiply the prime factors. The product should 
equal the number you started with. 2 3 5 2 9 25 4502 2� � � � � �

See the 
Reference 
Chart for 

divisibility 
rules.

450

2     225

 5     45

 5     9

 3     3

450 2 3 52 2� � �

Practice

1. Circle the composite numbers in each set.

2 7 12 17 22 27, , , , ,     � �  1 3 5 7 9 11 13, , , , , ,      � �
5 10 15 20 25 30, , , , ,     � �  4 11 19 26 33 40, , , , ,     � �
7 16 25 34 43 52, , , , ,     � �  0 11 22 33 44 55, , , , ,     � �  

2. Write all the prime numbers between 1 and 50.

______, ______, ______, ______, ______, ______, ______, ______, 

______, ______, ______, ______, ______, ______, ______

3. Cross out the numbers below that are divisible by ALL of these 
numbers: 2, 3, 4, 5, 6, 9, and 10.

1,242 750 18,000 3,636

5,400 140,600 82,800 112,140

99
© Jenny Phillips
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2 3 5 7 11 13 17 19

23 29 31 37 41 43 47
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MATH 6MATH 6

 Watch the video lesson and/or read the mini lesson.

Video Lesson

Scan the QR code or watch the video lesson on 
goodandbeautiful.com/Math6. 

Warm–Up

Complete the problems below.

20 + 70 70 + 20

4 2 5�� �  4 2 5�� �

4 923 007 1, , •  802,115 + 0

Mental Math Checkup

26
LessonLesson

PROPERTIES

1. Count by 300 from 0 to 3,000.

2. Divide each number by 200. 

400              8,000            120,000 

3. If today is November 25th, what date is seven days from 
today? 
  

108108
© Jenny Phillips

108108

2 40 600

December 2

90

40

4,923,007

90

40

802,115

2

Review

MATH 6MATH 6

1. Multiply. Lesson 9

2 1
4

4 3
5

� �    1 4
7

3 1
3

� �

2. Add or subtract. Lesson 12

$185.57 + $9.13 + $25.98 = 

$9,435 – $5,714.34 = 

3. Compare the following using <, >, or =. Lesson 20

 12 6 3 3 5 2 5 5 2
5

35 4 6 21 72 2� � � � � � � � � �( . . ) ( ) ( )  

4.	 Find	the	area	of	the	irregular	figure.	Lesson 21

     A = __________

5. Find the surface area of the square pyramid. Lesson 22

      
         SA = __________ 

DIVING    INTO     DIVISION
Complete the division problem by each arctic 
animal to determine how many feet deep that 
animal can dive into water.

20 cm

15 cm

32 m

20 m

10 m

8 m

4 m

moose
35
4

1
2

� �

sea	otter

15 3
40

� �

osprey
26
5

17
10

� �

puffin

4 1
49

� �

polar bear
85
2

3� �

sea turtle

20 1
2

1
50

� �

harp seal

125 5
52

� �

narwhal
80
3

2
369

� �
Greenland shark

300 1
24

� �

walrus
200
7

8
70

� �

© Jenny Phillips
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200 ft

3 1
17

 ft

14 1
6

 ft

17 1
2  ft

1,300 ft

1,025 ft

196 ft
250 ft

7,200 ft

4,920 ft

10
7

20
5

5

21

$220.68

$3,720.66

>

400 m2

1,000 cm2
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Practice

Review

Practice

MATH 6MATH 6

7. Write the reciprocal of each number.
5

12  _____ 3 _____ 
33
4 _____

92 _____ 
7
16  _____ 181 _____

8. Complete each problem using the inverse property.

–5.26 + 5.26 = 98
7

7
98

� �  10 18 4 25 10 18. . ( . )� � � �

16 1
2

16 1
2

� �
�

�
�

�

�
� �  33 1

33
� �  

9
10

7
11

10
9

� � �

9. Use the properties you have learned to complete the problems.

27 2 14 32 8 6. .� � � �  8 20 3�� � �  2 9 5 3� � � �

1 44 0 37� �� � �  10 1 69�� � �  
1
6

5
7

14 6� � � �

14 8 14� � � �( )  
2
3

8
5

7 5
8

3
2

� � � � �

1. Compare the following using <, >, or =. Lesson 13

 8 720 0 621, .×   8,720

  91 48 1 226. .×   91.48

2.	 Find	the	area	of	the	irregular	figure.	Lesson 21 

      A = ______________

3. Find the surface area of the trapezoidal prism. Lesson 22

     
       
     SA = ______________ 

4. Convert each decimal to a fraction. Lesson 23

0.15 =  3.25 =  0.002 = 

8 in

5 in

13 in

19 in

15
 in

12
 in

140 mm

50 m
m

190 mm

70 m
m

10
0 

m
m

50 mm

© Jenny Phillips
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1
92

16
7

1
181

7
11

12
5

1
3

4
33

0 1

10

4.25

80 184 270

81 621 10

8 7

< >

3

20
3

1

4

1

500

12,500 mm2

704 in2

MATH 6MATH 6

Practice

3. Use the commutative property to complete each problem.
Hint: Rearrange the numbers to make the problems easier to complete.

7 19 23� � �  18 34 52� � �

6 3 52� � �  2 20 53� � �

4. Use the distributive property to complete each problem.
11 9 8�� � �  
12 40 12�� � �  
12 11 7�� � �

5. Use the identity property to fill in the blanks. Then complete the 
problems.

54 54� �_____  8 2
9

8 2
9

� �_____  � � � �
1
3

1
3

_____

� � � �67 67_____  4 284 9 0, . � � _______ 
11
25

1� �  _______

 � � �80 591 1,  ___________ � � �16 803 0.  ___________

6. Write the opposite of each number.

8.7 _____ –90 _____ −
4
5

 _____

6 8
9

 _____ 7.93 _____  –0.5104 ________

1. Determine the property shown by each statement. Then write the 
first letter(s) of that property on the line under the statement.

Associative property | Commutative property | Distributive property

IDentity property | INverse property

 42 1 42� �  9 14 14 9� � �  6 8 7 6 8 6 7�� � � � � �

 ____ ____ ____

 � � �24 24 0  37 2 2 37� � �  5 3 10 5 3 10�� � � � � �� �
 ____ ____ ____

 11 0 11� �  2 6 3 2 6 3�� � � �� �  7 16 8 7 16 7 8( )� � � � �

 ____ ____ ____

 
5
8

8
5

1� �

 ____

2. Use the associative property to rewrite and complete each 
problem. The first one is given as an example.

5 12 8 5 12 8 60 8 480�� � � �� � � � �

9 38 2�� � � �

8 15 2�� � �

23 57 18� �� � �

© Jenny Phillips
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ID C D

IN C A

ID A D

IN

9 38 2 9 40 49� �� �� � �

( ) ( )8 15•2 8 30 240= =

23 57 18 80 18 98�� � � � � �

11
25

4
5

−6 8
9

49 104

270 800

187

336

161

1 0 0

1 4,284.9

–80,591 –16.803

–8.7 90

–7.93 0.5104
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Practice

Review

MATH 6MATH 6

1. Complete each problem. Lesson 20  

14 – 3(4) + 52 = 56 ÷ 7 + 23 – 11 =

2. Simplify each expression. Lesson 20

3

3

27
2 1

=
+  

4

3

2 8
125 – 4

÷
=

3. Use XX to fill in the information. Lesson 42

radius = ____________________

diameter = __________________

area ≈  ______________________

circumference ≈ ______________

4. Write yes or no on each line. Lesson 43 

Is a = 18 a solution to the equation a ÷ 3 = 9? ______

Is b = 2.3 a solution to the equation 5 – b = 2.7? ______

5. Find the percent of each number. Lesson 44

What is 25% of 120? ________

What is 15% of 75? ________

What is 90% of 8? ________

7.  Use terms from the box and addition or subtraction to create  
TWO expressions that are equivalent to the expression listed by  
each animal. Write the expressions on each animal. For example, if 
the expression by the animal was 7x, you could write 10x – 3x and 
5x + 2x on the animal. For an extra challenge, try to write expressions 
with three terms on some of the animals.

 5x    2x    –3x    x    10x    12x    –2x    –x    6x    4x    7x    3x

5x
X Y6 ft

8x

11x

9x

10x

© Jenny Phillips
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Answers will vary. Three examples 
are given for each one, but the child 

only needs to write two. 

2x + 3x
7x - 2x
10x - 2x - 3x 

10x - 2x
5x + 3x
4x + 3x + x 

12x - 2x
7x + 3x
6x + 3x + x 

10x - x
6x + 3x
2x + 3x + 4x 

12x - x
10x + x
7x + 3x + x 

27 5

21

3

6 ft

12 ft

113.04 ft2

37.68 ft

no

yes

30

11.25

7.2

MATH 6MATH 6

Practice

4. Simplify the expressions.

8y + 2y ___________ 5x + 3x ___________

–7v + 12v + 4 ___________ 6t + 2 + 5t – 3 ___________

9z – 4 + 8 ___________ 20u – 19u – 2 ___________

w + 3w + 4w ___________ 6 + 7p – 4 ___________

5. Rewrite the expressions so like terms are next to each other. Then 
simplify the expressions. The first one is given as an example.

3x + 4y + 5x = ________________________ = ___________

a + 3b + 2a – b = ________________________ = ___________

8d + 9c – 3d = ________________________ = ___________ 

11p + 4s – s + p = ________________________ = ___________

7 – 6h + g + 2h = ________________________ = ___________

4k + r + 3k – 2k = ________________________ = ___________

6. Fill in the blanks to make equivalent expressions.

2t + ____ = 6t –3s + 5 + _____ = 4s + 5

4p + 5p + ____ = 12p q + 7r – _____ + 2q = 3q + 6r

1. Color boxes with like terms in the same color. For example, use 
one color for like terms with the variable b and another color for 
like terms with the variable d.

5a b 8c –b 3a
4c –9d 3d d c

–3b 2d a –d 7b
2c 4d –5d 6d 5c
4a 2b –c 4b –2a

2. Combine like terms to simplify the expressions. The first is given 
as an example.

a + a + a _____

g + g + g + g _____

r + r + r + r + r + r _____

m + m _____

x + x + x + x + x _____

3.  Draw lines to connect equivalent expressions.

 5n + 3n 10n

 4n – 2n 8n

 n + 9n 4n

 8n – 2n 6n

 3n + n n

 6n – 5n 2n

Hint:  
You’ll use  
four different 
colors.

3a
3x + 5x + 4y 8x + 4y

List terms with variables in alphabetical 
order with constants at the end.

© Jenny Phillips
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Colors will vary. 

4g

6r

2m

5x

10y

5v + 4

9z + 4

8w

8x

11t - 1

u - 2

7p + 2

The order of the terms will vary, but like terms will be next to each other. 

a + 2a + 3b - b 3a + 2b

9c + 8d - 3d 9c + 5d

11p + p + 4s - s 12p + 3s

g - 6h + 2h + 7 g -  4h + 7

4k + 3k - 2k + r 5k + r

4t

3p

7s

r
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Book 2 • Math 6 Answer Key • 108

MATH 6MATH 6

Practice

3. Factor each expression.

3k + 6  _______________________________

25m + 15 _______________________________

9n + 27 _______________________________

16 + 24p ________________________________

4.	 Match	the	equivalent	expressions	in	the	table	using	patterns	
(stripes,	polka	dots,	etc.)	and/or	colors.	The	first	one	is	given	as	an	
example.

3030xx –  – 9090 9x – 12 4(6x + 7)

1
2 (18x + 24) 9(5x – 1) 5(9x – 1)

1
4 (36x – 48) 7(3x + 4) 3x – 9

45x – 9 18x + 21 3(6x + 7)

3030((xx –  – 33)) 21x + 28 24x + 28

45x – 5 3(x – 3) 9x + 12

1. Use the distributive property to simplify each expression. The 
first	one	is	given	as	an	example.	Remember	to	combine	like	terms.

9(10x + 9) 90x + 81

18(2 + 3y)

12(9c – 4 + 11c)

( )1 12 38
2

x+

( )1 69 18
3

y −

5(9z + 5 – 3z + 4)

2. Find the GCF of the factors in each expression. Then use the GCF 
to	factor	each	expression.	The	first	one	is	given	as	an	example.

26d + 39 GCF: ______      ______(______ + ______)

99f + 77 GCF: ______      ______(______ + ______)

84 + 16g GCF: ______      ______(______ + ______)

500h + 200 GCF: ______      ______(______ + ______)

72 + 30j GCF: ______      ______(______ + ______)

 13 13 2d 3

© Jenny Phillips
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36 + 54y

240c – 48

6 + 19x

23y – 6 

30z + 45

11

4

100

6

11        9f           7

4        21          4g

100      5h          2

6        12          5j

3(k + 2)
5(5m + 3)
9(n + 3)
8(2 + 3p)

Mental Math Checkup

Video Lesson

MATH 6MATH 6

 Watch the video lesson and/or read the mini lesson.
Scan the QR code or watch the video lesson on 
goodandbeautiful.com/Math6. 

Warm–Up

XX
LessonLesson

X
X

Write the second factor in expanded form. Then use the 
distributive property to multiply.

5 • 342

4 • 813

71
LessonLesson

DISTRIBUTIVE PROPERTY AND
FACTORING WITH VARIABLES

Complete each division fact in your head, and then write the 
answer in the box.

 55 ÷ 5 =  48 ÷ 4 =  63 ÷ 7 = 

 96 ÷ 8 =   42 ÷ 7 =  99 ÷ 11 = 

 72 ÷ 12 =  36 ÷ 4 =  35 ÷ 7 = 

 60 ÷ 5 =  110 ÷ 11 =  120 ÷ 12 = 

( )1 10 14
2

x + 20 140b +

Supplies
colored pencils

© Jenny Phillips
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11

12

6

12

12

6

9

10

9

9

5

10

( ) ( )1 110 14
2 2
5 7

x

x

= +

= +
( )20 7b= +( )5 300 40 2

1,500 200 10
1,710

= + +
= + +
=

( )4 800 10 3
3,200 40 12
3,252

= + +
= + +
=

( ) ( )1 110 14
2 2
5 7

x

x

= +

= +
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MATH 6MATH 6

Practice

4. Complete each input-output table. For each table, plot the ordered 
pairs on the graph on the next page and connect the points from 
the table to form a line. Use a ruler to extend each line to the 
edge of the graph. Each line will go through one of the triangles, 
which represent the tallest mountain summit on each continent 
in the world. Using the key at the bottom, write the name of 
the mountain on the line under each table. Once the names are 
written in the blanks, the mountains will be in order from tallest 
to shortest.

1. Complete each input-output table. Then list the ordered pairs 
from each table on the lines below the table. 

y = x – 4               y = 3x

x y
–1
0
1
2

__________   __________

__________   __________  

2. Graph the equations from Problem 1 on the coordinate planes 
below.

      y = x – 4               y = 3x

3. Use the equation y = –3x – 5 to answer the questions.

What is the y-value when x is 8? _____
What is the y-value when x is –3? _____

x y
–1
0
1
2

__________   __________

__________   __________

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

x

y

1.      y = 5x – 37

x y

6

7

8

Mt.

________________

2.     y = –4x + 21

x y

3

4

6

Mt.

________________

3.           y = x 

x y

–5

0

5

Mt.

________________

4.      y = 0.5x + 4

x y

–8

0

4

Mt.

________________

5.      y = 3x – 9

x y

0

2

4

Mt.

________________

6.          y = –x

x y

–8

0

8

Mt.

________________

7.      y = –3x + 6

x y

0

2

4

Mt.

________________

Aconcagua

Vinson

Kosciuszko

Kilimanjaro

Everest

Denali

Elbrus

© Jenny Phillips
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-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

x

y

-6 -4 -2 2 4 6

-6

-4

-2

2

4

6

x

y

–4
–3
–2

–5
0
3
6

–3

(–1, –5)
(1, –3)

(0, –4)
(2, –2)

(–1, –3)
(1, 3)

(0, 0)
(2, 6)

–29
4

–7
–2
3

9
5

–3

–5
0
5

0
4
6

Everest Aconcagua Denali Kilimanjaro

Elbrus Vinson Kosciuszko

–9
–3
3

8
0

–8

6
0

–6

Mental Math Checkup

Video Lesson

MATH 6MATH 6

 Watch the video lesson and/or read the mini lesson.
Scan the QR code or watch the video lesson on 
goodandbeautiful.com/Math6. 

 y = x + 27

83
LessonLesson

GRAPHING LINES

1. Count down by 1
4  from 8 1

4  to 6.

, , , , , , , , , 

2. Find each percent.

What is 300% of 5?   What is 300% of 50? 

3. Multiply or divide.

1,000 ÷ 50 =    2,100 • 4 = 

x y

–1

0

1

2

ordered pairs:

__________   __________

__________   __________

-6 -5 -4 -3 -2 -1 1 2 3 4 5 6

-6
-5
-4
-3
-2
-1

1
2
3
4
5
6

x

y

Warm–Up

 y = –5x

x y

–1

0

1

100

 

x y

0

1

2

100

Substitute each x-value in the equation above the table to 
find the missing y-values.

© Jenny Phillips
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0

–5

–500

5

28

29

127

27

3(–1) – 2 = –5

3(0) – 2 = –2
3(1) – 2 = 1

3(2) – 2 = 4

(–1, –5)
(1, 1)

(0, –2)
(2, 4)

  8  17
2

 17
4

 7 36
4

 16
2

 16
4

 6

15 150

20 8,400
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Subtracting Integers Using a Number Line

To subtract integers, rewrite the problem as an addition problem by 
adding the opposite. Then follow the steps for adding integers.

Example 1: 6 – 8 = 6 + (–8)
Start at 6. Move left 8 places.

-3 -2 -1 0 1 2 3 4 5 6 7

6 + (–8) = –2

Example 2: –4 – (–8) = –4 + 8

Start at –4. Move right 8 places.

-5 -4 -3 -2 -1 0 1 2 3 4 5

–4 + 8 = 4

Practice

To solve each subtraction problem, rewrite it as an addition 
problem. Then draw arrows showing the direction and distance the 
klipspringer should move on the number line.

     0 – 5 = ___ + ___ = ____

     0 – (–5) = ___ + ___ = ____

 2 – 3 = ___ + ___ = ____

 2 – (–3) = ___ + ___ = ____

 –8 – 4 = ___ + ___ = ____

 –18 – (–7) = ___ + ___ = ____

 5 – 13 = ___ + ___ = ____

 15 – (–3) = ___ + ___ = ____

195195
© Jenny Phillips

-5 -4 -3 -2 -1 0 1 2 3 4 5

-5 -4 -3 -2 -1 0 1 2 3 4 5

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

-12 -11 -10 -9 -8 -7 -6 -5 -4 -3 -2

-19 -18 -17 -16 -15 -14 -13 -12 -11 -10

-9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

11 12 13 14 15 16 17 18 19 20

0 –5 –5

0 5 5

2 –3 –1

2 3 5

–8 –4 –12

–18 7 –11

5 –13 –8

15 3 18

MATH 6MATH 6

108
LessonLesson

INTEGER OPERATIONS
 REVIEW

Practice

To solve each problem below, draw arrows showing the direction 
and distance the klipspringer should move on the number line.

 –1 + 4 = ____

 –1 + (–4) = ____

 0 + (–3) = ____

 4 + (–4) = ____

 2 + (–11) = ____

 –17 + (–6) = ____

Klipspringers are small African antelope, typically less than 24 inches tall 
and weighing 22–40 pounds as adults. Klipspringer means “rock jumper” in 
Afrikaans. These amazing animals can jump up to 12 feet in the air and can 
land on rocks as small as a silver dollar! In this lesson, klipspringers will help 
you review operations with integers.

Adding Integers Using a Number Line

One helpful strategy for adding or subtracting integers is using a 
number line.

To add integers, start at the location of the first integer on the number 
line. If adding a positive integer, move in the positive direction 
(right). If adding a negative integer, move in the negative direction 
(left). Move the distance of the absolute value of the second number.

Example 1: –5 + 3

Start at –5. Move right 3 places. 

-8 -7 -6 -5 -4 -3 -2 -1 0

–5 + 3 = –2

Example 2: –1 + (–6)
Start at –1. Move left 6 places. 

-8 -7 -6 -5 -4 -3 -2 -1 0

–1 + (–6) = –7

 There is no video for this lesson.

194194
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-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

-6 -5 -4 -3 -2 -1 0 1 2 3 4 5 6

-2 -1 0 1 2 3 4 5 6 7 8 9

-10 -9 -8 -7 -6 -5 -4 -3 -2 -1 0 1 2 3

-25 -24 -23 -22 -21 -20 -19 -18 -17 -16 -15

3

–5

–3

0

–9

–23
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Preventing Errors
• Read the manual and/or reference card and practice using the 

calculator. 

• Estimate the answer before entering a problem.

• Complete the problem on paper first and simply use the 
calculator to check your answer.

• Enter the calculations twice and make sure you get the same 
answer both times.

• Check that the answer displayed on the calculator is reasonable.

For example, consider the problem 6,258 ÷ 70. First, round 6,258 
to 6,300 because you can calculate 6,300 ÷ 70 mentally. The answer 
should be close to 90. Now complete the problem by hand in the 
space below:

70 6,258.0

If you have access to a calculator, enter the problem by pressing the 
keys below. Notice that a comma is not typed.

6 2 5 8 ÷ 7 0 =

Write the answer displayed on the calculator: _____

Is the displayed answer the same as your answer 
above? If not, check whether one answer is more 
reasonable than the other. Try entering the problem 
in the calculator again. If you get the same answer 
on the calculator twice, check your written work for 
errors.

The Order of Operations 
Basic/Standard/4-Function calculators often DO NOT follow the 
order of operations. Instead, they perform all operations in the order 
that you enter them. 

For example, suppose that Otis entered a problem into two different 
calculators and got two different answers. 

Calculator A:  3 + 5 • 9 = 72

Calculator B:  3 + 5 • 9 = 48

If you have access to a calculator, check whether your calculator is 
programmed to follow the order of operations by typing in the same 
problem that Otis did. Here are the keys to press:

3 + 5 × 9 =

Write the answer displayed on your calculator: ____

Now complete the problem by hand here. Be sure to use the order of 
operations.

3 + 5 • 9 = _____

Based on the order of operations, 48 is the correct answer because 
multiplication is performed before addition. 

If your calculator showed 72 as the answer, the calculator is 
NOT following the order of operations. Instead, it is performing 
calculations in the order they are typed. You’ll need to use 
parentheses when entering calculations or enter them in the order 
specified by the order of operations, like this:

3 + ( 5 × 9 ) =
OR

5 × 9 + 3 =

If your calculator did not follow the order of operations, try one of 
the above methods and see if you now get the correct answer of 48.

231231
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89.4

48

Answers will vary.89.4

560
 658
630

  

7

 280
280

 

0 6258

     

0

  0

.
−

−

−

Review

Practice

MATH 6MATH 6

2 ×
 10

–6

1. Find the amount of discount, sale price, amount of tax, and 
total cost for the item. Lesson 65

6.	 Begin	at	Start	and	follow	the	path	that	shows	the	correct	scientific	
notation for each number until you reach the box marked Finish!

original price: $28.80
percent discount: 10%

amount of discount: ______

sale price: _______  

 
tax rate: 6%

amount of tax: _______

total cost: _______

2.	 If	186	students	are	going	on	a	field	trip,	and	each	van	can	
hold	15	students,	how	many	vans	are	needed	to	take	all	the	
students	on	the	field	trip?	Lesson 110 

	 _______	vans

3.	 Convert	114.5	ft2 to square inches. Lesson 107

 _______ in2

4.	 How	many	minutes	are	in	one	week?	Lesson 109

 _______ minutes

5.	 A	popcorn	machine	pops	7	quarts	in	4	minutes.	How	many	
quarts	of	popcorn	can	it	pop	in	10	minutes?	Lessons 92  & 95

 _______ qt

3.2 × 10 –4

5.13 × 10 3

2.1 ×
 10

–9

73.
45 ×

 106

6.2 ×
 102

4.3 × 10 8

1.2 × 10 –3

3,200 32 × 103 32,000 7.345 × 107 73,450,000
3.

2 ×
 10

3

3.
2 ×

 10
4

6.
2 ×

 10
3

0.00513 51.3 × 104 0.00032 32 × 105 6,200

5.
13

 ×
 10

– 3

0.
32

 ×
 10

– 3

4.
3 ×

 10
– 9

734,100 734.1 × 10–3 FINISH 4.3 × 108 0.0000000043

7.
34

1 ×
 10

5

12
 ×

 10
– 4

4.
3 ×

 10
9

0.000002 2 × 106 0.0012 1.2 × 103 4,300,000,000

2.
1 ×

 10
8

1.
2 ×

 10
6

1.
2 ×

 10
– 4

2,100,000,000 1.2 × 10–5
START

1,200,000
1.2 × 108 0.00012
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$2.88 $1.56

$27.48$25.92

13

16,488

10,080

17.5
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Additional Practice
FRACTION AND INTEGER OPERATIONS

Find common denominators before adding or subtracting. 

30 13
6 3

− =
 

1 14
5 5

+ =

Cancel before multiplying. Multiply the numerators; multiply the 
denominators. To divide, multiply the first number by the reciprocal 
of the second number. A complex fraction is division.

2 6
3 2

• =
 

3
8
1
4

=
 

Integer operations rules:
Addition: add and keep the sign 
Subtraction:  subtract and use the sign of the greater absolute value
Multiplication/Division: same signs → answer is positive
 different signs → answer is negative

4 2− ÷ =  –10 – 5 =    

Additional Practice
GEOMETRIC FIGURES

To find the volume of a prism or cylinder, multiply the area of the 
base by the height.  V = area of base • height

FRACTION AND INTEGER OPERATIONS 
(LESSONS 9, 14, 25 & 56)

Simplify. Then plot the answers on the number line below. 
7
5

14
15

=  4 4− ÷ =  
18 7
4 2

− =

2 – (–2) = 2 5
5 5

+ =

-2 -1 0 1 2 3 4

GEOMETRIC FIGURES 
(Lessons 7, 21, 22 & 73)

Find the perimeter and area of the figure.

                   P = ________
        
                   A = ____________

Find the volume of the solid. Use 3.14 for π.

              V ≈ ______________

See 
Reference 
Chart for  

area 
formulas.

22 in

8 
in

8 
cm

13 cm

5 c
m

3 cm

Find the volume of the solid. 
Use 3.14 for π. 

 V ≈ _____________

Find the perimeter and area of the 
figure.

 P = ________
 A = ____________

18 in

8 
in

22 cm

6 
cm

5 
cm

6 cm

10
 cm

11
2

21
5

–1

4

46 cm

128 cm2

3,039.52 in3

58 cm
194 cm2

2,034.72 in3

3

2

–2 –15

2
3

3
2

1

Student

Instructions

© Jenny Phillips
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LESSONS 119-120

	 This	assessment	is	different	from	the	other	assessments	you	have	
taken	in	Math	6.	Instead	of	covering	only	concepts	taught	in	Unit	
4,	this	assessment	covers	concepts	you	have	learned	throughout	
the	entire	course,	and	the	problems	are	designed	to	assess	multiple	
skills.	For	example,	a	single	complex	fractions	problem	in	the	
fraction	and	integer	operations	section	covers	concepts	such	as	
dividing	fractions,	canceling	before	multiplying,	multiplying	
fractions,	plotting	a	fraction	on	a	number	line,	and	converting	
an	improper	fraction	to	a	mixed	number	or	whole	number.	This	
assessment	does	not	cover	every	skill	you	learned	in	Math	6;	
instead,	it	focuses	on	skills	you	need	to	know	to	successfully	start	
Math	7.	Here	are	some	tips:	First,	read	the	instructions	carefully.	
Second,	do	not	rush	through	the	problems.	Third,	if	you	start	to	

get	frustrated	with	one	section,	skip	to	a	different	section	and	then	
come	back	later.	The	sections	do	not	need	to	be	completed	in	order.

 For Lesson 119, complete	all	the	exercises	with	purple	headers	only.	
You	may	cover	the	additional	practice	sections	or	fold	the	page	to	
concentrate	only	on	the	purple	sections.	Have	your	parent	or	teacher	
correct	the	work.	If	there	are	mistakes	in	a	section,	your	parent	or	
teacher	will	check	the	orange	“Additional	Practice”	checkbox	for	
that	section.

 For Lesson 120, complete	all	the	orange	sections	that	are	checked.	If	
you	still	make	multiple	mistakes,	review	those	sections.
	 Parents/teachers	may	determine	if	the	student	may	use	the	
Reference	Chart	for	the	assessment.	It	is	recommended	that	the	
student	first	try	the	assessment	without	the	Reference	Chart	and	
then	refer	to	it	if	needed.

Additional Practice
FACTORS & FACTORING

Separate	each	composite	number	into	a	factor	pair	until	every	factor	
is	a	prime	number.	

Find	the	prime	factorization	of	each	number.	Then	find	the	GCF	of	
the	numbers.

36:	______________________________

	 	 	 	 	 	 GCF:	_____    

42:	______________________________	

This	template	can	be	used	for	factoring:	___(___ + ___).	Write	the	GCF	
in	the	first	blank	and	determine	what	terms	multiplied	by	the	GCF	
equal	the	terms	in	the	expression.	

Factor	each	expression.

3 + 42 =               12 + 36t =              42r + 36 = 

FACTORS & FACTORING 
(Lessons 2, 3, 48 & 71)

Find	the	prime	factorization	of	each	number.	Then	find	the	GCF	of	
the	numbers.

48:	______________________________	 	 	            

	 	 	 	 	 	 GCF:	_____     

56:	______________________________

  
Factor	each	expression.

9 + 48 = 7b + 56 = 48 + 56q =

Although Lesson 117 was an introduction to calculators, 
calculators should not be used on the assessment.

24 • 3

23 • 7

8

3(3 + 16) 7(b + 8) 8(6 + 7q)

22 • 32

2 • 3 • 7
6

12(1 + 3t)3(1 + 14) 6(7r + 6)
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